
KIT TRANSFORMATIONGRAVEL TO TARMAC

technology



technology
ES FUEL SYSTEM ES­101­00­00 FUEL TANK page 1ES­101­01­00 FUEL TANK UPPER PLATE page 2ES­101­01­01 FUEL TANKPLATE UPPER  (2) page 3ES­102­00­00 ENGINE BAY FUEL HOSE page 4FS FRONT SUSPENSIONFS­101­00­00 STEERING ROD & GRAVEL TARMAC page 5FS­102­00­00 FRONT WHISHBONE GRAVELTARMAC &    page 6FS­103­00­00 FRONT GRAVEL BRAKE page 7FS­103­01­00 FRONT GRAVEL UPRIGHT page 8FS­103­02­00 FRONT GRAVEL & CLEVIS BRACKET page 9FS­104­00­00 FRONT TARMAC BRAKE page 10FS­104­01­00 FRONT TARMAC UPRIGHT page 11FS­104­01­01 FRONT TARMAC CLEVIS & BRACKET page 12RS REAR SUSPENSIONRS­101­00­00 REAR TOETARMAC & GRAVEL ROD   page 13RS­102­00­00 REAR WISHBONE GRAVELTARMAC &   page 14RS­103­00­00 REAR UPRIGHT GRAVEL & TARMAC page 15RS­104­00­00 REAR GRAVELBRAKE   page 16RS­104­01­00 REAR GRAVEL PROTECTION page 17RS­104­01­01 REAR GRAVEL CLEVIS & BRACKET page 18RS­105­00­00 REAR TARMAC BRAKE page 19RS­105­01­00 REAR TARMAC PROTECTION page 20RS­105­01­01 REAR TARMAC CLEVIS & BRACKET page 21BV GEARBOXBV­101­00­00 PROPSHAFT AND DRIVESHAFT page 22BV­102­00­00 GEARBOX & EQUIPMENT page 23BV­103­01­00 GEARBOX & EQUIPMENT (2) page 24BV­103­00­00 REAR DIFFERENTIAL page 25CH CHASSISCH­101­00­00 MECANO BODYSHELL page 26CH­102­00­00 FRONT SUBFRAME page 27CH­103­00­00 REAR SUBFRAME page 28

Summary



PINAVAZ  CarlosR4 Commercial Project LeaderTel : +33 (0) 494 885 739

Tel :   +34 981 784 955
Fax : +33 (0) 494 885 024

Gsm : +34 666 578 335
Gsm : +33 (0) 786 797 843E-mail :

E-mail : info@r-technology.es

 cpinavaz@oreca.frWebsite :

Website : www.r-technology.es

 http://www.oreca.com/

technology

RELEASE 01.01

ORECA is the Official supplier of mandatory kit for the Rally 2­Kit cars.

This brochure is made with the information provided by Oreca.All rights of dispositon, particulary for copyng or ditributing, are reserved. There may be changes in any of the parts, without notice.

R­Technology is a registered trademark of Rallycar.One of R­Technology’s goals will be to provide Suzuki racing vehicle users with high quality customer service.You can be sure that spare parts will be available anytime and anywhere you need them.Other services will be offered jointly, such as rebuilding or overhauling engines, gearboxes or shock absorbers; technical support on site or remotely; ideal configuration for different rallies, etc. Likewise, R­Technology can also offer its own engineers and experienced mechanics for any rally.R­Technology will provide the highest level of service to its customers.



1

FS-104-00-00technology GRAVEL TO TARMACTRANSFORMATION
1 2

10

5

1 2

678
5

6
11

8

10
9

9
Cs = 22 N.m

Cs = 22 N.m

Cs = 50 N.m + Cu 800

Cs = 50 N.m + Cu 800 N° Description Part number Qty1 vis CHC M10x1.5­100 07000­100­100 42 rondelle SCHNORR D10 36397­100­001 45 assy nut and bolt kit CP3845100K10­ORECA 26 tarmac disc bell CP2494­2681­ORECA FIAR4­FR­0115 27 TARMAC brake disc LHS BIBLI­BI­3448 18 retaining ring cp2494­2682­ORECA FIAR4­FR­0120 29 douille centrage 4250001012304002 410 tarmac caliper spacer FIAR4­FS­0198 211 TARMAC brake disc RHS BIBLI­BI­3447 1

FRONT TARMAC BRAKE

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



2

FS-104-01-00technology GRAVEL TO TARMACTRANSFORMATION

1
23
4

Cs = 25 N.m + 243C

C s  =  10N . m

N° Description Part number Qty1 vis CHC M8x1.25­25 07000­080­025 32 rondelle ONDUFLEX D8 type A 37150­080­001 33 E tarmac protection FIAR4­FS­0201 14 tarmac skid FIAR4­FS­0125 1
FRONT TARMAC  UPRIGHT

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



3

FS-104-01-01technology GRAVEL TO TARMACTRANSFORMATION

1
23

4

5

1
2

5

168

8 7

7

12Cs = 45 N.m + 243

Cs = 45 N.m + 243

Cs = 45 N.m + 243

Cs = 45 N.m + 243Cs = 25 N.m + 243

Cs = 25 N.m + 243Cs = 350 N.m + 243

N° Description Part number Qty1 vis CHC M10x1.5­35 07000­100­035 62 rondelle ONDUFLEX D10 type A 37150­100­001 53 E tarmac insert FIAR4­FS­0128 14 assy mecano e tarmac bracket FIAR4­FS­0019 15 douille centrage 4250001012304002 36 rondelle SCHNORR D10 36397­100­001 17 vis CHC M8x1.25­20 07000­080­020 28 rondelle SCHNORR D8 36397­080­001 2

FRONT TARMAC CLEVIS & BRACKET

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



4

RS-105-00-00technology GRAVEL TO TARMACTRANSFORMATION

1 2
10

5

1 2

678
5

6
11

8

10 9

9
Cs = 22 N.m

Cs = 22 N.m

Cs = 50 N.m + Cu800

Cs = 50 N.m + Cu800
N° Description Part number Qty1 vis CHC M10x1.5­100 07000­100­100 42 rondelle SCHNORR D10 36397­100­001 45 assy nut and bolt kit CP3845100K10­ORECA 26 tarmac disc bell CP2494­2681­ORECA FIAR4­FR­0115 27 TARMAC brake disc LHS BIBLI­BI­3448 18 retaining ring cp2494­2682­ORECA FIAR4­FR­0120 29 douille centrage 4250001012304002 410 tarmac caliper spacer FIAR4­FS­0198 211 TARMAC brake disc RHS BIBLI­BI­3447 1

REAR TARMAC BRAKE

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



5

RS-105-01-00technology GRAVEL TO TARMACTRANSFORMATION

23
4

Cs = 10 N.m

N° Description Part number Qty1 vis CHC M8x1.25­25 07000­080­025 32 rondelle ONDUFLEX D8 type A 37150­080­001 33 E tarmac protection FIAR4­FS­0201 14 tarmac skid FIAR4­FS­0125 1
REAR TARMAC PROTECTION

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



6

RS-105-01-01technology GRAVEL TO TARMACTRANSFORMATION

1
23

4

5

1
2

5

168

8 7

7

12Cs = 45 N.m + 243

Cs = 45 N.m + 243

Cs = 350 N.m + 243 Cs = 45 N.m + 243

Cs = 45 N.m + 243Cs = 25 N.m + 243

Cs = 25 N.m + 243

N° Description Part number Qty1 vis CHC M10x1.5­35 07000­100­035 62 rondelle ONDUFLEX D10 type A 37150­100­001 53 E tarmac insert FIAR4­FS­0128 14 assy mecano e tarmac bracket FIAR4­FS­0019 15 douille centrage 4250001012304002 36 rondelle SCHNORR D10 36397­100­001 17 vis CHC M8x1.25­20 07000­080­020 28 rondelle SCHNORR D8 36397­080­001 2

REAR TARMAC CLEVIS & BRACKET

GRAVEL TARMAC
LEFT LEFT

FRONT
REAR REAR

FRONTRIGHT RIGHTXX



technology
Tel :   +34 981 784 955Gsm : +34 666 578 335E­mail : info@r­technology.es

E­mail : info@rallycar.es

Website : www.r­technolgy.es

Website : www.rallycar.es


	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10

